& 200 M2l
2t 210 ZAEAL=Y
g 212 AgzEae (el &)
g.-&.8.-5 Ol toH JIEA Hus2
s Al 16,762,486 17,237,028 N4T74,542
200 Mgl 1,683,723 1,612,427 71,29%
210 ZaEA2 = 1,683,723 1,612,427 71,296
212 Ai22 Y 1,144,723 1,073,427 71,29
212-03 ot==AE= 1,144,723 1,073,427 71,29
< Mot ANE A > 1,144,723 1,073,427 71,296
ONEE 23X 515,296,000 515,2% 444,000 71,29
500 Ex3 4,624,419 4,104,000 520,419
510 =2 1BX3S 4,450,946 4,104,000 346,946
511 FNEX3S 4,450,946 4,104,000 346,946
511-01 =11EX= 4,450,946 4,104,000 346,946
< Aot AN A > 4,450,946 4,104,000 346,946
OsY S3H=HMeld EBASE Z2IHAIY
A 268,000,0002 268,000 435,000 A167,000
Ozte2d B3otexeld BASE T2 A
22X 240,000,000 240,000 363,000 123,000
Osl=g S3ot=HMold BASE ZZ2 ALY 290,000 0 290,000
Osltz=g S3otaHelAE(e2E) flsSTPAI (H2A) 275,000 0 275,000
O&=22d ZZdteHelANE(2422) S AE (88
&)
38,504 0 38,504
O=s 23ot=HMelME(a22) SHEPAIL (LS N) 33,442 0 33,442
520 Al - SHIEZ2E 173,473 0 173,473
521 Al - SHIBZ2E 173,473 0 173,473
521-01 Al - SHIBEZ3S 173,473 0 173,473
< Mot ANE A > 178,473 0 173,473
Osles S3otaHeAE(Le2Z) S PAIE (H2A) 137,500 0 137,500
OL=2d ZI6t=HelANE(242Z2) SlSTPAI (88
&)
19,252 0 19,252
Os= 3EotHMelAME(e2Z) SH=PAI(HEH) 16,721 0 16,721
700 E8=USHUHFHH 10,454,344 11,520,601 A1,086,257
720 LHE DA ch 7,257,121 8,323,378 1,086,257
721 d= 7,257,121 8,323,378 1,086,257
721-03 JIEIRI A& = 7,257,121 8,323,378 1,086,257
< MGt AIEA > 7,257,121 8,323,378 1,066,257
Ox=ZHEEE3HEY= 956,350 1,498,439 Ab542,089




0% 1 0

700 2E8USHIHEH N
720 LHEHH

721 Ml (el &)
g.-&.8.-5 Oil &koH JIEH Hus2

—g, OIAXR? Ste2tE JUAIY 2= 111,000,000 111,000 814,741 AT703,741

—E=X7 o2 FUIAKY 2E 236,700,000 236,700 141,770 94,930

—ZGeXX7 -2ot=22 A 21 90,000,000 90,000 23,278 66,722

oL HEU=3 6,300,771 6,824,939 ~b24,168

—5I4E 2DEXAY 2HIRSS 24X 5.866.827, 0008 5,866,827 6,390,995 524,168




